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@ sin50° = CD © cos50°= 0D
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@ 0<cosx<1 @ 0<sinx<1 @ 0<tanx<1

@ -1<tanx<0 B -1<sinx<1



e DE IR |

R Ajel2 Jdstolat

sin0°, cos0°, sin25°,
cos25°, tan75°

= §

o
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Z\FE‘ sin l cos | tan

25° 10,42 0.90| 0,46
50° 1 0.760.63| 1,19
70° 10,93 0.34 | 2.74

cos 50° + cos 25° X sin 50° — tan 25°
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12em & @, AAOC 2] Ho]=? g
120

AS -0 D
D 12V3cm? @ 243cm? 12 cm
® 36 V3cm? @ 48+3cm?
3 60V3cm?2



10. thg 79 90 oA x 9 he?

(o)

Nt

@ 3cm ® 4cm ® 5cm @ 6cm ® T7em



11. o2 1389 ¥ 0 94 OD = OE ,
/CAB =40° & o, /ACB &] 3717

@D 50° ® 55° ® 80° @ 95° ® 100°



12. o3 1A 24 PA, PB = 99 HA
o]11 HA, B = FHo|t}. /PAB=60°
o ff, AB 9] Zo]=?

@ 12V3em @ 6+3cm
@ 9cm ® 12cm

® 6cm



13.

H A, B+ 90 9 HHolal LAPB = 60°,

PA =3v3 4 o, PO

@D 6 Q7 3 8 @ 9 B 10



14. o2 I"AM 90 = A=90° A AE ¢
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®y=x+1
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